Get out your homework and have it ready to check. Test over Unit 3
on Monday!

Classwork - Target Check and Test Review (Skills)

Solve and graph the following inequalities. Remember, when multiplying or dividing by a negative number o
must flip the inequality symbol. SHOW WORK
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2) Write an inequality to represent the situation. Then solve and graph the inequality. Interpret vour
solution.

A) Katic is starting a babysitting business. She spent $26 to make signs to advertise. She charges an initial fee
of $5 and then $3 for cach hour of service, How many hours will she need to babysit to make a profit?
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B) A rental car company charges $45 plus $0.20 per mile to rent a car. Mr. Willimann does not want to spend
more than $100 for his rental car. How many miles can Mr, Willimann drive in the rental car?
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Combining Like Terms

Simplifv the following expressions by combining like terms. Circle Box like

A)Sx+ 12— 3x B)3+4x—6
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The Distributive Property
Use the distributive property on the expressions below. Use an area model for the factored part of the

expression to find the expanded form of the expression. Rewrite vour simplified expression outside vour
area model.

4(3x)=12x 4(-5)=-20
Example 4
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The following problems involve combining like terms and distnbutive property. After using the distnbutive
property, identifv and simplify like terms.
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smmplhify each expression to deade whether the 2 expressions are equivalent or not. Show work to prove yvour

answer. Equivalent expressions have the same simplified expression after vou combine like terms.

A) Expression #1
i (10x — 30)
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I(x+2)=15
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Solving Equations

(:D Simplify left and right side UNDO the operations acting
of equation on the variable on BOTH sides
181 - Undo Addition or Sublracson
Lombine lel1 Area Modal
Terms distribution 2nd - Undo Multiplication of Division
Identify what operations are Solve for 1x or x

acling on the variable

@ Check Answer

Solve the following equations. Simplify the equations BEFORE solving if needed. Make sure to show inverse
operations on BOTH sides and WOERK DOWN. SHOW ALL WORK.

A) 3n+5=26

n
B) Sx—8=-23 C) S+3=-4
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D) 42=6k-12 E) [ -9=-2 F) — =7=8
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G) —-90=-12b+30 H) x+8= I) 57=9h—6






solving Inequalities
Solve and graph the following inequalities. Remember, when multiplving or dividing by a negative number

to must flip the mequality svmbol SHOW WORK
x

A)d4x + 10 < 30 B) 5-42-3 C)—3x—8>-29
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D)Sx—12 < 13 E) 51—42-—3 F)38 < 6x— 10
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G)—35x—7 < 49 H) Txt10=z1



